Maytag MFS80PNFVS 03 - SIDE PANELS
11—?

ea—13
%——e

25-Apr-02

507
Maytag Commercial Maytag MFS80PNFVS Washer Parts Parts Diagram 03 - SIDE PANELS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23004415 Front Cover Complete
002 23004416 Side Upper Cov Comp
" 23004417 Side Upper Cov Comp
" 23004418 Side Upper Cov Comp
003 23002383 Cover, Side-Lower
" 23002384 Cover, Side-Lower
" 23003182 Cover, Side
004 23002385 Cover, Top
" 23002386 Cover, Top
" 23003183 Cover
005 23002387 Cover, Rear-Upper
" 23003184 Cover, Rear
006 23002388 Cover, Rear-Lower
" 23003185 Cover
007 23003924 Welded Foil li

008 23001476 Plug, Water Inlet

12



http://www.pwslaundry.com/c-299405-commercial-maytag-mfs80pnfvs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799833-maytag-23004415-washer-front-cover-complete.html
http://www.pwslaundry.com/i-7799834-maytag-23004416-washer-side-upper-cov-comp.html
http://www.pwslaundry.com/i-7799835-maytag-23004417-washer-side-upper-cov-comp.html
http://www.pwslaundry.com/i-7799836-maytag-23004418-washer-side-upper-cov-comp.html
http://www.pwslaundry.com/i-7798414-maytag-23002383-washer-cover-side-lower.html
http://www.pwslaundry.com/i-7798415-maytag-23002384-washer-cover-side-lower.html
http://www.pwslaundry.com/i-7798876-maytag-23003182-washer-cover-side.html
http://www.pwslaundry.com/i-7798416-maytag-23002385-washer-cover-top.html
http://www.pwslaundry.com/i-7798417-maytag-23002386-washer-cover-top.html
http://www.pwslaundry.com/i-7798877-maytag-23003183-washer-cover.html
http://www.pwslaundry.com/i-7798418-maytag-23002387-washer-cover-rear-upper.html
http://www.pwslaundry.com/i-7798878-maytag-23003184-washer-cover-rear.html
http://www.pwslaundry.com/i-7798419-maytag-23002388-washer-cover-rear-lower.html
http://www.pwslaundry.com/i-7798879-maytag-23003185-washer-cover.html
http://www.pwslaundry.com/i-7799370-maytag-23003924-washer-welded-foil-ii.html
http://www.pwslaundry.com/i-7797943-maytag-23001476-washer-plug-water-inlet.html

009 23002473 Rubber, Protective

011 23002375 Screw

013 23002457 Washer M6

015 23002424 Washer M6.4

017 23002390 Block

019 NLA Not Available NUT (M6)

021 23003968 Rubber

023 23003926 Plate, Side

025 23002400 Washer

" 23003187 Cover

029 NLA Not Available WASHER

031 23003928 Cover Lock Welded

033 23003773 Not Available NUT M6

035 23002408 Rivet W/Crank

037 23002410 Bar, Side

039 23004419 Air Grate

041 23003932 Holder

043 23003933 Cover


http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7798408-maytag-23002374-washer-screw.html
http://www.pwslaundry.com/i-7798409-maytag-23002375-washer-screw.html
http://www.pwslaundry.com/i-7798466-maytag-23002461-washer-screw.html
http://www.pwslaundry.com/i-7798463-maytag-23002457-washer-washer-m6.html
http://www.pwslaundry.com/i-7798464-maytag-23002458-washer-washer.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html
http://www.pwslaundry.com/i-7797746-maytag-23001158-washer-lockwasher.html
http://www.pwslaundry.com/i-7798420-maytag-23002390-washer-block.html
http://www.pwslaundry.com/i-7798421-maytag-23002393-washer-cover-front-lower.html
http://www.pwslaundry.com/i-7799409-maytag-23003968-washer-rubber.html
http://www.pwslaundry.com/i-7799371-maytag-23003925-washer-plate-upper.html
http://www.pwslaundry.com/i-7799372-maytag-23003926-washer-plate-side.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7798426-maytag-23002400-washer-washer.html
http://www.pwslaundry.com/i-7798427-maytag-23002401-washer-cover-top.html
http://www.pwslaundry.com/i-7798881-maytag-23003187-washer-cover.html
http://www.pwslaundry.com/i-7798397-maytag-23002362-washer-rivet-w-crank.html
http://www.pwslaundry.com/i-7799373-maytag-23003927-washer-collar.html
http://www.pwslaundry.com/i-7799374-maytag-23003928-washer-cover-lock-welded.html
http://www.pwslaundry.com/i-7798582-maytag-23002722-washer-screw.html
http://www.pwslaundry.com/i-7798451-maytag-23002440-washer-washer-spring-lock.html
http://www.pwslaundry.com/i-7798428-maytag-23002408-washer-rivet-w-crank.html
http://www.pwslaundry.com/i-7799375-maytag-23003929-washer-strip-inner.html
http://www.pwslaundry.com/i-7798430-maytag-23002410-washer-bar-side.html
http://www.pwslaundry.com/i-7799376-maytag-23003930-washer-profile.html
http://www.pwslaundry.com/i-7799837-maytag-23004419-washer-air-grate.html
http://www.pwslaundry.com/i-7799377-maytag-23003931-washer-lock-cover.html
http://www.pwslaundry.com/i-7799378-maytag-23003932-washer-holder.html
http://www.pwslaundry.com/i-7798523-maytag-23002649-washer-screw.html
http://www.pwslaundry.com/i-7799379-maytag-23003933-washer-cover.html

	Maytag MFS80PNFVS 03 - SIDE PANELS

